Compare Mass

Write three statements about the mass of the 3 toys below. Use the words in the word
bank to help you.
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windmill ball dinosaur
heavier than lighter than equal to
two lots of three lots of the same as

For example: The windmiill is lighter than the dinosaur.
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Write three statements about the mass of the 3 toys below. Use the words in the word
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windmill ball dinosaur
heavier than lighter than equal to
two lots of three lots of the same as

For example: The windmiill is lighter than the dinosaur.

Various answers, for example:
The ball is heavier than the windmill; The ball is the same as two of the dinosaurs; The

ball is the same as three of the windmills.
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